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Instructions :

G) SIRT] F979F FER: GUEl: Gl
39 J97-99 # 9R @IS &1

The question paper has four sections.

(1) Fd% GUeH YFH FTI THIRET T FHT AGAIIM |

To% @UE & S TP & 8 W HH 4 fer@t gl

The answers to each section must be written at one place.

(iii) JYTGEI] FITGAIJERY STq9qHe =147 |

T97-T7 & STJ9R Jo7-G&I 37999 &1 fore &t

Write the question number according to the question paper.

(v) TIG FeTHH ST GERaT a@enT |
ol gol & IH Geghd H felau

Answer all the questions in Sanskrit.
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W@UE: & (SECTION - A)

JTUTSATIT-STFAT LAY ( TUTSATIT ST )
Unseen Reading Comprehension 15 3T

N N

Sfafgay sT7=es Ifecl Yeauedr &hdd I :

o

o

FfafEd STIo98 & T QU T Yl & ST G&hd | QT ¢

Read the following passage and answer the given questions in Sanskrit :

Y AL 0 ¥ | %: S: e 31fy frsfd, stasmeoi swfa, Sy

TedereT &1 7 yoifa | TEE 9 Y AEYH: WoH | Afq hid: S=sid a4l
IR @ &0 O gRUiEm | WA 19 I wata | aront eifa frafear wafd)

$5Y1 hIel fohfodd J&aeh TR USH | ShidIq Faigl AT &M |

P EALE

@

1)

ThUed I | 1x2=2
Teh e U I ST |

Answer in one word.

() hIY IFTd foh emuftad ?

(i) HG: S: Kl feda=mT 7 gonfa ?

USRI ST | 2x2=4

quf geR § I ST
Answer in a complete sentence.

() TIEH W W h: ?
(i) HHA 9Tl Higel wafd ?

(I1T) Yeafaesheqsd: 3faaq 3w faan forad : Yx4=2

feu U fashedl # 9 3fad W g fafan
Choose and write the appropriate answer from the given options :
() ‘$s:' 30 F9 1587 fasivom ?

M T

() ST

(i) IE:

(iv) SU=SH |

3 P.T.O.



(@) ‘wom’ zfa foramres f& wdue e ggEw ?
G
(i) @it
(iii) sh1Y:
(iv) o |
() ‘wEfE we’ sod T sTere T v ?
@ e
(i) Tt
(iii) TFE T
(iv) 1fa|
(=) * sreTE: | 3 e foh faeiae ot yE ?
G) fraf=a
() weq
(iti) HTGETT:

@iv) RM=H |

(IV) TS TT=5eH Fd Ffad Iueh I&had faad

Y AT & fou 3wy viiver deepa ¥ fafaw -

Write the appropriate title for this passage in Sanskrit :
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N hd

stefafed velidh Ifgedl ISaye &hdd I |
frefafad vaieh o1 9gae fau T g9 & S ¥%pa ¥ <
Read the following shloka and answer the given questions in Sanskrit.
gTeTel: qafd, QIefd JSHIE,
HU et fafy Afq mffem |

oo

(96 [t Hedl qumcq%lg:,

N

Td T Ifid A9h: w1

QI
() T&HISH A | 1x1=1
Teh I H S ST |

Answer in one word.
d qIeAl: % Udfd ?

(AT) TofaTeRH IR | 1x2=2
o a1 H W

Answer in a complete sentence.
(i) TIH: HO fh HU ?
(i) TIH: H ¥4 ANG HU ?
(I11) Yeafdsheysd: 3fadq I o faed - 1x2=2
feu U fashedi # 9 3fad IW A fafan
Choose and write the appropriate answer from the given options :
(%) Tl ‘g’ Tfd 9ew o wafges ygem ?
G &
(i) WA
(i) =RAH,
(iv) faf=sm |
(@) ‘oz’ 3 ew foh foeimue vollr g™ ?
0 fozq
() wrE
(1) hetHq

(iv) =RaH

5 P.T.O.
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Que: @ (SECTION - B)

AT T (oS ST )
Writing Skills 15 3@:
el fd fafaan s19: 95 AesEeaRes: i@ I4: faeqd : %x10=5

fuar =01 forg o fr=fafad o= &1 wos # fou 7w sl o6t werEar 9 qof o
TT:T\E'F@"I:

Complete the following letter, written to your father, with the help of the
words given in the box and rewrite the same :

Al {A-AldIA:,
@
INIRE
T3t (i) !
Hid YOIHT: |
I3 YA aAE | 3% fammd war Afqgws: wigsafq ag wdfead
Fafdaadaamgfasyfar 991 Gii) M T | HISTead

(iv) 3TEHY guH: EH | IfEA ¥ arftwicad o8 ARt Ty
(S

319 aTfiehlicad: ATH-YEhaT (vi) | fo=rmerrs ve@: @ w@
(vii) it | STEHMY (viid) YA I 9l I HE STATH,
=g | HH (ix) afersafd | AIqeROE: 7H YO |

Yad: 9=,

) |
HosTot

o haV

i

pu

=0T, Hreyfaafiamm, s, Icdmaday, Yoy, Jafdecid:, JUHH,

(a o

2

A, fIqasean:, SRS |




S1Y:yed Torsl g Hosurl YSTRIssMl HRHadl Usdl SR Gehda fored @ 2x5=10
= feu MU fox 1 gui Hesw § fou TN vssl w wREd ¥ uie Eha At

T &I -

Describe the following picture in five Sanskrit sentences with the help of the
words given in the box below :

Rl
BT, TRUHM, A&, Fad, reich:, TafeRon, Try, &, fowmem, gamivom,
AR |

3174 (OR)

forad

Toam ¥ feu MU vredl w1 wewar ¥ frefafed fora w ute Swpd g §
a@?ﬁ'ﬁ@"l:

Write a paragraph in five Sanskrit sentences on the following topic with the
help of the words given in the box :

AT — FHoeh:

HosTar
3T, U, auSTer, S, UL, T96: TWaaQen, SeRare:, Swe,
qRgHe |

7 P.T.O.



Que: T (SECTION - C)

Applied Grammar 30 3Ag:
AefeiadersRy Tigdauey | Fiu=ss o Heon forad - 1x4=4

frfafea ol | Wifed 95 § |fy srear gfy-foseg st fafay .
Write the underlined words of the following sentences after joining or disjoining
sandhis :

() d%Us TR + Td|

() A= Tel g 3fd + wdq fagw ==
(i) 1 pAfefed wH |

(iv) TEFT BT ToIH, ST |

AHfeEqarey YErfgaueri Tu¥ aue o yexfasheqsa: foen faed : 1x5=5
FefafEd ameRl | (@ifehd s ol TH™ 31eren faue fou U faskeul § & gt
fafay

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences :

() Jfdedq 3T<:h0 T 9: Tooavra: fu-<ad |
() HfdgdH =0,
(i) fdEdhToH
(iii) FfdRdr=I: I |
(@) §: 99=8 wall- @R |
() SoOM SAAIIh™
(i) =91 Higdq
(i) SoSI9: FHH |
(1) a4 TEE: ufao: = femfl
(@) oI
(i) TRafaToT:
(i) T9E: qfE: |
(%) J& |: I IS TESi |
G e e
() -ed ®e
(i) e FHTH |
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(¥) darsr: B &g od |
() HdH TR T 9: |
(i) I T T

(i) AT STeUfor I 91|

Afafgqary WEfgauer yhiaaerdl dasg faws o1 3fadq sw fameda:
fereen fer@a - 1x5=5
frefafed gl o Y@iferd 981 & Thfdgcl sl Siigss a1 g Tl 3fad IW
fashedl # 9 A fafam -

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options
given below :

(%) A19: Foud + o *: g &H: ?
(@) FeEAdH
(i) Fodeam
(ili) TSACAR: |
(@) =81 dlcleh 99 |
© TH+ g
(if) 7T + S
(i) T + S|
() T& |+ UH SH: T&=1: & |
G HIEH
(i) T
(iii) TaHM: |
(%) Rg"e 78 |d SMf |
@ He+ T
(i) HEq + 9IH
(iii) Weq + A |
() T HA 3 + S shisld |
@ 9
i) T
(i) |

9 P.T.O.



Ne e N

SfafEqameRy Reaeami Fosurt geu: 3fEd: sovue: [ faea @ 1x5=5
frefafed arerll o e st gfd #esn # fou v 3fud s/ s & g1
HIT

Fill in the blanks in the following sentences with appropriate indeclinable

words given in the box :

G 4 RO TS |
() w@H TURTAS 4 |
(ii) AT Toh Yol SUH AT |
Gv) __ SOYeR: foRad drerd TR STE: |
v ®|f___ %
HosTHT

afg:, 1, frmeH, amed, $4: |

o

StaqEEs e aeRm I | 1x5=5

3fed Heamug R e quf Sife |

Choose the correct numerical words and complete the sentences.

G A fe waf=t | (5w, e, )

(i) T =9 UM T3t | (33:, Tag:, Ffon)

(iii) 3um fovfagan: e | (TR, TR, th9)

(iv) qeM FHa faegf< | (Ia8:, I@r:, Idm)

v) __ <hifect iz | (3, B, gA1)

ALfAREderRy WWifgaued ReH AR | Yexfashedsd: 3fedq 3w o seus
e forea 1x6=6
FrAfafad ame | (@ifed I8 oS ¢ | U MU fomedi ¥ 9 Sfud S At
IS U2 I Hefyd R fafa

Choose the correct answer from the given options and correct the underlined
incorrect word in the following sentences :

(%) 1 ' 39 Tisf |
OERUEEICE
1) AT
(i) TSI
(iv) STT=SdM |

10
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(@) ¥ difdesT Hisfd|

@ el

(i) dTeTh:
(i) TR
(iv) dfeTeh |

() & &l TS geaf ?

O LIRS
() T
(i) weArd
(iv) eI |

(%) @ m fir, e

@ fem
Gi) o
(i) T
Gv) T

() 38 T4 TeH |

(=)

G A3
() 3
(i) Y
(iv) =AM

TGA I §Ie B Hi |
@ e

(i) Y

(i) e

(iv) VoM

11

P.T.O.
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@Us: ¥ (SECTION - D)
fad-Taarey ( Ufed-raaier )

Reading Comprehension 30 3TT:

sefafad ey, 9, e 9 gfecn JeaueaHH Sauftn &hdd faeq -
fefafEd T, 98 SR A+ e U T Y9l o SR H&pd d

Read the following prose, poetry and drama passage and answer the given
questions in Sanskrit :

(31) TR :

"R UE g difeden: fefeag QU eifE | oY 3 srIpved Sl |
TS dlfgaTe: SRS 3fd T=rd | 373 STHIM o= SR et
sify |fd | eemTeh eAfaur A Tentfrdi wufsad gfag-Teami =i ufswn
FEIAT THIN THATRIAAT | AWl U TR0T SHeedl add | hRIshAE]
Hﬁlﬁ?ﬁf: "’
LRSI
() THTeT 3 |

Teh ¥ U ST ST |

Answer in one word.

TRNHHUE HET: ITTHEISA T ?
(IT) YofemeR 3T |

Tof g H I

Answer in a complete sentence.

YT T FEOT ST T ?

(III) Yedfashed«: 3faaq 3w foen faed 1x2=2

feu T fasedl # 9 3fea IR A fafau -
Choose and write the correct answer from the given options :
(%) ‘=reeen’ 3fq wuew b foRamad merd wgey ?

(@) ST

Gi) o

Gil) T

Gv) 3Tf&|

12
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(@) ‘wdw 3fd FelAmYe he: g ?
() HEHA:
(i) FUSH:
(iii) TISTEIAT:
(iv) STTHEIAY: |
(3) WEM:
“ Ty a=sfa T el fomnys H18d
frais@ foh qusd sfoasdepasani1’’
PEAIK
() THTe 3 |

T ¥ § I ST |

Answer in one word.

firT w1 A fEne T ?
(1) YofeTeRH IR |

o a1 H I T

Answer in a complete sentence.
foh o9 wgq & ?
(I1T) Yeafashedsd: 3fadq 3w o faed -
feu U fashedi # ¥ 3fad W g fafan

Choose and write the correct answer from the given options :

(%) ‘o=’ 3fq TEMUE vEh e g ?
G f
(i) TI9
() A
(1v) 9 |
(@) ‘w'q’ =fauc w& qge fogeony ?
G) Toan
(i) femmyTq
() A
(iv) duY: |

13

1x2=2

P.T.O.



Fh: I WYAd! T2 afe 99 gafd 7 weranty aft $7 = fuen: 2 o oedw
h T4 |

TSEY: U 9I9H | 3TeHe FRefidaent afaor =i |

EER T oA, eTede FefREu: | (dq: gfaerfd gepfawmar)

Yepfd:  (FETEH) TAH AAH fHY: Hhefed | 318 Yehid: Td IoATh ST | g8 |
M T | e Ao foRd JuTEEeE | 9a: TA W el | dre
Fheted THY gl Araaa |’

QoA
() THTed 3 | 1
T&h I § I ST |
Answer in one word.
fUshe T=afd o: drerafd ?
(IT) YofeTeRA 3T | 1
o g H I T
Answer in a complete sentence.
gd: TT HE: AT a2
(I1T) Yeafasheds: 3faaq 3w o faed - 1x2=2
feu U fowedi # ¥ 3o W g fafa -
Choose and write the correct answer from the given options :
(%) ‘wweomaR: ' sfd K& fogroom ?
@) TEF () DR (i) RIS (iv) T
(@) e ey 3fd uee guede: fohy eraus Yy ?
@ o™ G dfR (i) oo (iv) |

N hd

12. srfafadee T gqfad 96 faskedsar: faan fowa 1x2=2

52

frefafeaa sl &1 9qfaa we fasedl § 9 I fafau

Choose and write the correct gist of the following sentences from the given
options :

(%) ‘Hdo SMTEHISE SETN Fd AR Ta |’
() HTR: BTH T SNEh: Wold |
(i) HI: Hod SNTEE: Va(d | T §F SIS SHEUN Fd AEH: T |
(i) HTh: Tad BTAUN Fd STV FHALT |

14
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(@) ‘"raffadsr g gdl §9: okl oeh: |’

() =9: &R fyafa, o: &R fafdl

(i) TOH IHS 9 FUI: JIq: 4q |

(i) T S 9 Hed Toh gy foh = et ?
3fd fooeyul 1 19 399 99 9 WS ST |

HS[uTd: Yfaauer facn stefafadvegas sad d ¢
oo H ¥ FHfUd 98 AR FHfafad gl vl & 379 i U1 HIT

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box :

() ‘' Srefargarad swaEe: T Ee: |

Y 3q: Fafqam 999 9 o 911"

3T - ST A () T |
TafaE I (i) T YT F |09 B |

(@) "' o1 TR I35 THRS Sed |

GH1: grRugsg U iyt 11"’

IFA: - I (i) 3T qTATEAT] §& |
(ii) SIGITEHT: qg Ueg 7 afyerdfd |
HosTT

FRARR:, Y9, IS, W2 |

Eiigd UaIH SAYed TRAHIT Fed |
[@ifehd UG o YR T GLAHHT RIS |

Frame the questions on the basis of the underlined words.

@)

Tl WU STRTL: Wold |

(i) T freemm sTud HdH |
(iii) SRV ST TG A |
(iv) SITUMT SI9em: A & |

V)

T e EH HUMHIH ST WIHHNH_ A4 |

15

1x4=4

1x5=5

P.T.O.



15.

16.
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o

sefafadqare T seAshaaR faeq -

o

fefafaa ol &l seshd & IER fafau .

Write the following sentences in their sequential order :

() HHRATE TR JeSeIamIAmeE: Hived FR: SAE |

(i) W wgu: T TRl ST |

(ili) Th: ITTS: ATeTeh: STaa- o=l forned gaoi TREsT FI9F T4 9111 7
(iv) Y=SeUN: SedehTel foan 7 g |

(v) d geecomef T et |

(vi) df fHfeen SRe $ed: |

(vii) TeoI9TE: TRdG: ST 9R: 3THed |

(viii) @1 AW Sh1Sd: STThM gl Tacdr -

o1 fermef oo AT shiy ?

Yafgamert yagaT sief foe o)
G@ifhd T8 & FETHER 31 Fae fafaw |
Choose and write the contextual meanings of the underlined words.
() ‘9y geq! A A% yH@Rda: |

) I3: I

) e

(i) HSS: |
(@) ‘Aferufteedes a1 95 9 W w9 |’

() AU

) T

@i1) AT |
(1) ‘hrad Hekell HRT I

Q) HEY:

(i) gferet

(i) HETEE: |

16

V2x8=4
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